Y=y

sa L=

A &% = (B3 %)
i& 18 Sf3E9 B &4 9 B
i B E =7 = Fl [a B 017 0.15
=i N ® = Fl oy b 598 547
B B8 E & B #f O & = 0.1 0.0
B =& =) ] PR | W 3.86 368
B8 (PRI Tt g
GE) 1 REEES (hRS) 7 m_%gﬁ e TEEs <100
B GBI i g
Eézﬁfﬁ%%ﬁ (q:‘FEﬁl‘ﬁrH) *UE%- ’§2!§§)jm$t‘:j§§m X100
L ERIES] (83431 %)
- - S 3E 9 B &4 9 B H
= ENEISIPY ERERmP & B | ENEEHmP EREEmF 4§
EeERAAED 093 0.16 093 080 080 0.80
g & B & B 072 231 073 068 034 068
w o' & f W 021 A 215 0.20 0.12 A 154 0.12
WEEE - EiEE (B3 %)
&M3E 9 B H &MAE 9 BH
= ¥
ENEISIPY ERERme & 5 | ENREImP EREEmF & f
1 * 82.09 - 81.98 8311 = 82.99
B B E
HA oh 3 1y 7958 - 79.46 8086 - 80.77
8 * 1200 - 11.99 1255 - 1254
O =%
Hich 3y 11.28 - 1127 11.76 = 11.74




